
11.2 Solids of Revolution (Discs)   

Calculus   Name: _____________________________ 
For each problem, sketch the area bounded by the equations and revolve it around the x-axis.  Find the 
volume of the resulting solid formed by this revolution.  Leave your answers in terms of ߨ. 
ݕ  .1 ൌ ,ଶݔ2 ݔ ൌ 2, ݕ ൌ 0  
 
 
 
 
 
 
 
 
 
 
 
 
 
 

ݕ  .2 ൌ 4 െ ,ݔ ݔ ൌ 0, ݕ ൌ 0  
 

Same instructions as above but use a calculator and round to three decimals.
ݕ  .3 ൌ ,ଷݔ ݕ ൌ 0, ݔ ൌ 3  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

ݕ  .4 ൌ √4 െ ,ଶݔ ݕ ൌ 0 in Quadrant I.  
 

Same instructions as above but revolve around the y-axis now.  Leave your answers in terms of ߨ. 
ݕ  .5 ൌ ,ଶݔ2 ݔ ൌ 0, ݕ ൌ 2  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

ݕ  .6 ൌ 3 െ
ଵ

଺
,ݔ ݔ ൌ 0, ݕ ൌ 0  

 

CA #2



 
Find the volume by revolving the area about the given line.  Set up the integral, then use a calculator to 
evaluate.  Remember 3 DECIMALS in AP Calculus!!
ݕ  .7 ൌ ,ݔ√ ݔ ൌ 0, ݔ ൌ 9, ݕ ൌ െ2 about the  
     line ݕ ൌ െ2. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

ݕ  .8 ൌ ,ଶݔ2 ݔ ൌ 2, ݕ ൌ 0  about the line ݔ ൌ 2. 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
Answers to 11.2 CA #2 

ߨ  .1 ׬ ሺ4ݔସሻ
ଶ
଴ ݔ݀ ൌ

ଵଶ଼

ହ
 ߨ ߨ  .2 ׬ ሺ4 െ ሻଶݔ

ସ
଴ ݔ݀ ൌ

଺ସ

ଷ
 ߨ ߨ  .3 ׬ ଺ݔ

ଷ
଴ ݔ݀ ൌ 981.523 

ߨ  .4 ׬ ሺ4 െ ଶሻݔ
ଶ
଴ ݔ݀ ൌ 16.755  ߨ  .5 ׬ ቀ

௬

ଶ
ቁ

ଶ
଴ ݕ݀ ൌ  ߨ ߨ  .6 ׬ ሺ18 െ ሻଶݕ6

ଷ
଴ ݕ݀ ൌ  ߨ324

ߨ  .7 ׬ ൫√ݔ ൅ 2൯
ଶଽ

଴ ݔ݀ ൌ 466.527  ߨ  .8 ׬ ൬2 െ ට
௬

ଶ
൰
ଶ

଼
଴ ݕ݀ ൌ 16.755 

 


